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PRogrem FS5:

Let X,9 c Z be ﬂr-fc/a]éz/ a'ff Y-X & 3Z.

Let XE Z and note x—x = 0=3(c) € 3Z ~hw XHAX, and

we've shown R s FCd{/csz/t_

Suoppese xRtg dhan Y- x = 39' v Foma 0 e Z

s xX-Yy = 3('/3)6 3Z hena yRx, Thur R is rommetr

Swpose xRy erd gRe thon 4 ke Z for whion
V-X = ?é and T =Y = 3&. Com;(d_,/( .}41,_;{)

2 =X = (9+34)+G; -
) ~'9) 2=Vt § —x =3
= 3(fery) ( ¥=Hm2)

Then we se 'Z—><=?HL+9)€-?Z ard  x R 2
Thecefore R ie Fanns/tve '

an egavelnu relohin,
[x] = {wez| 4-x € 32

and welve ghown R ,,

= {vez| 34ez st 9-x=13;]
= {x+33]| €2

= X+ 3Z
Nok fo] = 32, [1) = 1432 o [2a) = a+32Z,
— — 32 u (1+3Z) U (3+3Z)

= { ey =3,0,3, 8, Jfud-an 7-Ju foy7h 2,5, €, e,



PRogem [6:
Let A= {a'za"/"'/ q"] and 5):{5'15’/“’7 é"]'

o 7A/n¢/f7 yn.
I'nJ'f ch\e and

Syppete £frA—>B ir
Fordhan £ vppece 15
FiA) = Yd(mfaenl = AF00), f0)
£ (0,) Ahen G5 = G
£(a.), (0 £ (0n) wee divtinct.

Consi'dan '/’A-l ’;”’\“91
., fln)]E 8

Soppese F(a5) = 0o £ i -1,
Thwys Sha  elemendts
we Had [F(R)] = n dhe FIA = G.

Fir) €8 and [F(A)] =]8] unles f'/Aj:@)

(WO connet Aove
Thay £ -1l =D £ ortv,

—
Cn.u!/fc,? foJ/‘OaLA 1C ry 0'»1‘\3. ’f}"én

{‘F("‘l)/ 'Jc[a;)/ - -,0[6«,,)] = ‘{b,/ bz/ s bn]. ffupau
-F(a,s) = ¥(6k) andd a; # Oy Hhen e gt

f(r) = B and

Jfw),.., £6n) ] har of mat (n-1)- diwhict ¢ lornenty

so £/A) F 0O
£ (0;) = Llon) implied 45 = Q4
£ ont = £ -1,

which —><— £iA) =B . Thuy
ond 0 £ ir 17 ) € e

ﬂ’u/LA(Q



Proaiem 13: Lt R, B8 be infhhte retr.

Suppere [A] = (6] and £:A—>8 ir & FLunchiun.

Consider A=8 = Z.
1.) f(x) = 2x dehng .2 —= Z ond
f (o) = flb) = 2a=2) = «=0b f)’/'wt_r 7{—/?1‘)\((;/1&;,

—

2
Huwe(’cr, 3¢ 'F(Z) fince 2x =3 = X =5 é =z .
’r)\.tre—!‘vr't ‘F 14 Tﬁ (I8 IU\(J\’-UHOKI,

N RS A T

.

Y - X =3t hrnm j el

Thow we oA G w.-aoq F is ear 2 M
fla)= FB3) e a=a0) ow 2=2(1)+/
S’\) ‘l[l I'f /\—U‘)L 1’-/\\) CC"\V‘.

(.ﬁ(u):fu) = 0, flz) =F12) = | / -F(j’):.,ﬂ/.{'):z 51‘?,.--)

Ih J‘hurf’/ PrRoccem (€ illurtrdis thed finYe Sedr ace J/)euro_ﬁ.

La can}/w#/ /hJ'ecﬁW and fU\/J'f(JLJ\-/‘C are pot ’\“#/C/\An&iw(/(‘
Foe £F:A >3 o Al =B # een.

ﬁwwm (§
IR, (e,00), IN, [3,3], @, P(R), @x @, {u231) Flas)) &
Nothie
o =1¢(< =L 2] = [PHab)] < Yo = INIS
mx Q| <X = IRl =(Co,)| = | [371] < [P




Pacvetem 19:
l‘ﬁ—,nol b(‘jech\w\ frem [a//] +v [‘/I {_‘]

flog=4 & S()=¢

Lod £(x) =mx+b
flo)=mie)+b =9 = 6=Y
f(i)=m+4=§ .~ m=1Y

Mmna Fx)= Yx+Y,
Noha Fla) = £16) = Yard =YbtY = a=6b = £ /-l.

[\:'ucw/_{,{/ it 9 € [‘//?] A hrn  Solve 9 =4x1Y dur :‘g’l;"‘i'
and nokt qe'gsg@/s_‘é—sa = o< ) = |
hmee F(F 1) =4(94-1)+y =2 H 2 1€ [
ﬂ\/\l«—_j £ s b(jco/')‘m.

Propiery g : . .
T s b O, ) I
fet  F(6,0) = (#:0, #ap)
Tho Fle,p) =F(8,2") = (dune fung) =(ha8', fng’)
S 4@ =4 @' Grd '}RV\F = F' and  fur
(Gl f")/ (O" (]’) € (.-'rt/zl “/2,)1 we  huog '-_Er—.cgla" p,[_;/< 721_—-
and 4wy G =0 e f=p" = (6,0) =(6'3) ~ F (-
Iy (X/u‘)) € ,72"- PO o g™ (—fun"[x),d'l»,\"’(‘ﬂ)) € (-, I{r/a

oo F (on”00, foi (9)) =(Hm e 00) der (479)) ) =&9).
Thany F 0 =nde, [.aJc?,qwj/y £ i b:’d'\c Lflu'a\,//




